

Lab 10 Notes

$$a_k = \frac{(-1)^k 2^k}{k!} \quad k \in \mathbb{N}$$

Ex. $a_4 = \frac{(-1)^4 2^4}{4!} = \frac{1 \cdot 16}{24}$
 $= \frac{16}{24}$

↑ trouble
X

$$a_{\frac{1}{2}}$$

\equiv

$$\frac{(-1)^{\frac{1}{2}} 2^{\frac{1}{2}}}{(\frac{1}{2})!}$$

(complex)

$$a_{-3}$$

\equiv

$$\frac{(-1)^{-3} 2^{-3}}{(-3)!}$$

(

—

Series - infinite
sum of

terms in a

sequence
 n^{th} partial
sum

$$\sum_{k=1}^{\infty} a_k \approx$$

$$\sum_{k=1}^n a_k = s(n)$$

n^{th} partial
sum

Geometric Series

$$\sum_{k=0}^{\infty} r^k$$

$k=0$
Start at
0

Converges if

$$|r| < 1$$

$$= \frac{1}{1-r}$$

$$\frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots = 1$$

$$\frac{1}{2} \left[1 + \frac{1}{2} + \left(\frac{1}{2}\right)^2 + \left(\frac{1}{2}\right)^3 + \dots \right] = 1$$

$$\frac{1}{2} \left[\sum_{k=0}^{\infty} \left(\frac{1}{2}\right)^k \right] = 1$$

\swarrow \searrow $= 2 = \frac{1}{1 - \frac{1}{2}}$ ✓